SH7EE BEEREAELERBHES
) s =
(Bifsz:FM)
X ch N AEETHE| HOFEE # O " &
EHERETI 18,780 18,720 A 60
§ A —REBRA 18,780 18,720 A 60
B £ A66 18- FHA .
LE SEINA 18,780 18,720 A 60 fﬁ%ﬁﬂ%f&;ﬁflﬁ‘44’GH53*'J‘26'§E36E
3 HELE2HEA
d FiEIRA 1 0 Al
% FEIA 1 0 A [ENFRARRTEANSERESN-EHER
B EIRA 1 0 Al
BR IR A 1 0 Al
B EIRA 1 0 A BEERENMOBRE
BEIRA 1,026 904 A 122
SmMEIA 1,022 900 A 122
THERESMEIA 1,022 900 A 122
FHEHIRA 4 4 0
HEHEFHRIRA 4 4 0
SiEEIZA 100 100 0
SHEEIA 100 100 0
SiEEIRA 100 100 O|2EZMHEBEESRUARENS
FHFISRELSIRA 1 1 0
ZERAISERYSIA 1 1 0|FERFIR
BEFBIAGO) 19,909 19,725 A 182
z FEHXH 3,450 3,200 A 250
IR 30 400 R Ml
FHEEX 3,100 2,800 A 300 |FsI=BT pREH (R ME - RE- BHE- THERRS)
BHEAEXH 3,100 2,800 A 300| & #3452 81,800,000/
(BE-BE-BHTT BENE KD RiER)
BHE R EER41,000,000/
EHEXW 16,459 16,525 66
REXBEXH 850 1,070 20| ER-EHR-EERERE
EHHEEREIH 160 160 0
FNR A E X 280 100 A 180
HREXH 6,575 6,523 A 52
NEBBEEIH 1,296 1,287 AINRBEERECLD
BHIBSEXW 5,277 5,234 A BSBETEREICLD
BEISEHEL BRI 2 2 042,000
BIEEREIH 265 265 O|BARTLRYNFAXEIE) . BiHHSE
SBEXMH 140 200 60| REITHESER
EBFREIH 6,930 6,930 O|(HBEARE
FHRZH 56 56 O|IRAFHHZE
Bl 920 850 A 70 %%f%@f;iﬁ'ié%t%ég%ﬁ
OB 100 120 20|BERHE
ERAEE X 183 251 68| =B ERE
EEFHRHEQD 19,909 19,725 A 184
EEFHELINIEHEG)=(1)-2) 0 0 0
= | |
H R RS 0 0 0
s MR BB E X HEHG) 0 0 0
2 MR % A S IR Z EE(6)=(4)-(5) 0 0 0
HER |
ol A -
it Z DD EEIRAT() 0 0 0
2 i M AEXE 0 0 0
B BERUEERH 0 0 0
LE
% Z O DEEN K HEHS) 0 0 0
x RO EMESREERO-)-® 0 0 0
FHEZL00) 0 0 0
LHIE SN EZEEAET(11)=(3)+(6)+(9)-(10) 0 0 0
BRI ESEE(12) 14,934 15,727 793
LRI EEEE01)+(12) 14,934 15,727 793




